Note that
$$g(r) = \langle g(r) \rangle = -\frac{g(r)}{Su(r)}$$
 (functional derivative)
Mathematical intermeters: Functionals (prognatic view)
Function: e.g. $f: \mathbb{R} \to \mathbb{R}$ given by $x \mapsto f(x)$. $f(x) \in \mathbb{R}$.
Functional: $F: X \to \mathbb{R}$, given by $f \mapsto \mathcal{F}[f]$ forx.
functional depends on a function $f(x) = a \langle x \langle b$.
It can be regarded as continuous version of a function of several
variables, i.e. $F(y_{i}, y_{1}, \dots, y_{N})$ with $y_{i} = f(x_{i})$ etc.
Examples:
 $(i): F(y_{i}, y_{2}, \dots, y_{N}) = \sum_{i=1}^{N} a_{i} y_{i} = \int dx a(x) f(x)$
 (ri)
 $G(y_{i}, y_{2}, \dots, y_{N}) = \sum_{i=1}^{N} a_{i} y_{i} = \sum_{i=1}^{N} A_{i} (q^{i}) dy_{i}$
 $\overline{g} = g(y_{1}, \dots, y_{N})$.
Then total differential: $df = \sum_{i=1}^{N} \frac{\partial f}{\partial y_{i}} dy_{i} = \sum_{i=1}^{N} A_{i} (q^{i}) dy_{i}$
 df on be interpreted as:
 $df = f(y + dy) - f(y)$.
Similarly, for functional $\mathcal{F}[u] = \int dx A[u_{i}x_{i}]$
 $\int dx \frac{S\mathcal{F}[u]}{Su(x)} Su(x)$.

.

Note integration bandwries appropriate to particular problem.
Let
$$\phi$$
 be atest function. Then we can also define the functional
derivative as
 $\lim_{E \to 0} \frac{d}{de} \mathcal{F}[u+e\phi] = \int dx \frac{S\mathcal{F}[u]}{\delta u(x)} \phi(x).$
We can by above construction also define higher order functional
derivatives: We find:
 $\frac{\delta^2 \mathcal{F}[u]}{\delta u(x) \delta u(x)} = \frac{\delta^2 \mathcal{F}[u]}{\delta u(x') \delta u(x)} etc.$ (compare $\frac{\partial^2 f}{\partial x \partial y} = \frac{\partial^2 f}{\partial y \partial x}$)
Functional Taylor expansion.
Suppose we expand around a given function $u_0(x)$:
 $\mathcal{F}[u] = \mathcal{F}[u_0] + \int dx \frac{S\mathcal{F}}{\delta u(x)} [u(x) - u_0(x)]$
 $t = \frac{1}{2} \int dx \int du' \frac{\delta^2 \mathcal{F}}{\delta u(x) \delta u(x)} [u(x) - u_0(x)] [u(x') - u_0(x')] +$
(thain rule: \mathcal{F} functional of u , depends solely on v , which is
 $\frac{S\mathcal{F}}{\delta u(x)} = \int dx' \frac{\delta\mathcal{F}}{\delta v(x)} \frac{\delta v(x)}{\delta u(x)}$. (End of intermetion).
So use interview of the $\Omega[u]$. We can make a functional legendre
transform:
 $\mathcal{F}[v] = u\Omega[u] - \int dv' u(v) \frac{S\Omega[u]}{\delta u(v)} = \Omega[u] + \int dv' p(v) [\mu - Vext[v]]$

q

Note alternatively:
$$T_{cl}^{cl} = \sum_{N=0}^{l} \frac{1}{N^{N}(N)} \int dp^{N} \int dr^{N}(M) \int dp = \int_{-\infty}^{l} \frac{1}{P^{(M)}(M)} \int$$

$$\Rightarrow \Omega[f] - \Omega[f_N] = k_B T Tree \left[f_N \left(\frac{f}{f_N} l_N \frac{f}{f_N} - \frac{f}{f_N} + 1 \right) \right]$$
Note that $f, f_N > 0$ (probability densities) $x l_N x$
Using that $x l_N x \ge x - 1$

$$\Rightarrow \Omega[f] \ge \Omega[f_N]$$

$$= \int_{-1}^{1} \int_{-1}^{1} \frac{f_N(f_N)}{f_N} = \int_{-1}^{1} \frac{f_N(f_N)}{f_N} \int_{-1}^{1} \frac{f_N$$

Theorem 1 For given $\overline{\Psi}_N$, $\overline{T}_J \mu$, the grantity $\overline{F[g]}$ is a unique Junctional of the equilibrium density $g(\overline{r})$. <u>Proof</u> Assume there is an external potential Vert $(\overline{r}) \neq V_{ext}(\overline{r})$ that gives rise to the same $g(\overline{r})$. Define $V_N \stackrel{=}{\underset{i=1}{\sum}} V_{ext}(\overline{r}_i)$ and $V_N' = \sum_{i=1}^{N} V_{ext}(\overline{r}_i)$ Define Hamiltonians: $H_N = K_N + \overline{\Psi}_N + V_N$; $H_N' = K_N + \overline{\Psi}_N + V_N'$ with $f_N \neq f_N'$ given by: $f_N = \frac{e^{-\beta(H_N - \mu N)}}{\overline{\Xi}_i}$

Then:

$$\begin{aligned} \Sigma' := \mathcal{D}[f_{N}'] = \operatorname{Tr}_{cl}\left[f_{N}'(H_{N}'-\mu N+k_{B}T \ln f_{N}')\right] & H_{N}'=H_{N} \\ & (\text{lemmal}) & +V_{N}'-V_{N} \\ & < \operatorname{Tr}_{cl}\left[f_{N}(H_{N}'-\mu N+k_{B}T \ln f_{N})\right] & +V_{N}'-V_{N} \\ & = \operatorname{Tr}_{cl}\left[f_{N}(H_{N}-\mu N+k_{B}T \ln f_{N}+V_{N}'-V_{N})\right] & (*) \\ & = \mathcal{D}[f_{N}] + \operatorname{Tr}_{cl}[f_{N}(V_{N}'-V_{N})] = \mathcal{D} + \int d\vec{r} g(\vec{r})\left[\operatorname{Vext}(r)-\operatorname{Vext}(\vec{r})\right] \end{aligned}$$

Here, we used:
$$\operatorname{Tr}_{cl}(f_{N} \vee_{N}) = \int d\vec{r} \operatorname{Vext}(\vec{r}) \operatorname{Tr}_{cl}[\vec{p}(\vec{r})f_{N}]$$

$$= \int d\vec{r} p(\vec{r}) \operatorname{Vext}(\vec{r})$$
Similarly, $\Omega < \Omega' + \int d\vec{r} p(\vec{r}) [\operatorname{Vext}(\vec{r}) - \operatorname{Vext}(\vec{r})].$ (4xx)
(x)+(xx)=) $\Omega + \Omega' < \Omega' + \Omega.$ $f' = \operatorname{Vext}(\vec{r}) = \operatorname{Vext}(\vec{r}).$
In other words, $\exists ! \operatorname{Vext}(\vec{r})$ that determines $p(\vec{r})$, which fixes f_{N} .
Furthermore:
 $\mathcal{F}[p] = \Omega[u_{i}] + \int d\vec{r} p(\vec{r}) [\mu - \operatorname{Vext}(\vec{r})]$

$$= \operatorname{Tr}_{cl}[f_{N}(H_{N} - \mu N + k_{0}T \ln f_{N})] + \operatorname{Tr}_{cl}[f_{N}(\mu N - f_{N} \vee_{N})].$$

$$= \operatorname{Tr}_{cl}[f_{N}(H_{N} - \mu N + \mu N - \nabla_{N} + k_{0}T \ln f_{N})].$$

$$= \operatorname{Tr}_{cl}[f_{N}(K_{N} + \overline{P}_{N} + k_{0}T \ln f_{N})].$$
Theorem 2 Gonsiter the functional
 $\Omega_{V}[\vec{q}] = \mathcal{F}[\vec{q}] - \int d\vec{r} a(\vec{r})\vec{q}(\vec{r})$
(when $\vec{q}(\vec{r}) = p(\vec{r})$ the eg. density profile, then Ω_{V} reduces to Ω_{V} .
 $\Omega_{V}[\vec{q}] = p(\vec{r})$ the eg. density profile. In Ω_{V} reduces to Ω_{V} .

Proof: When
$$\tilde{p} = p$$
 then:
 $\Omega_{V}[p] = \mathcal{F}[p] - \int d\vec{r} \ u[\vec{r}]p[\vec{r}] = \operatorname{Tr}_{U}[f_{N}[H_{N} - V_{N} + k_{B}Tln f_{N} - uN + V_{N}]$
Assume now $\exists p^{i}(\vec{r})$ for a given Vext (?) and H_{N} different from
 $p(\vec{r})$. Associated probability density is $\int [E_{i}(\vec{r})]$ with $\operatorname{Tre}_{i} f^{i}=1$.
Here, we assume that $\exists V_{ext}(\vec{r})$ that would give rise to the eq. density
profite $q^{i}(\vec{r})$ in order that $\int exists$. Then the existence of $\mathcal{F}[p]$ is
 g^{array} used:
 $\Rightarrow \Omega[f^{i}] = \operatorname{Tr}_{c1}[f^{i}(H_{N}-\mu N + k_{B}Tlnf^{i})] = \mathcal{F}[p^{i}] - \int d\vec{r} \ u(\vec{r})p^{i}(\vec{r})$
 $=: \Omega_{V}(p^{i}).(i)$
From the lemma: $\Omega[f^{i}] > \Omega[f_{N}] \stackrel{(i)}{=} \Omega_{V}[p] < \Omega_{V}[p] < \Omega_{V}[p^{i}]$ II.
Intrinsic Helmholtz free energy functions!
We find for the Helmholtz free energy:
 $F(N, V, T) = \Omega(\mu, V, T) + \mu \int d\vec{r} \ p(\vec{r}) = \mathcal{F}[p] + \int d\vec{r} \ p(\vec{r}) Vext(\vec{r}).$
 $\Rightarrow \mathcal{F}[p]$ contribution to $F(N, V, T)$ that does not explicitly
depend on the external potential \vec{Y}
From theorem 2: $\mu = Vext(\vec{r}) + \frac{\mathcal{F}F[p]}{\partial q(\vec{r})}$. (constancy of
 $\mathcal{F}F[R]$ can be viewed as an intrivisic
 $Q(\vec{r})$ chemical potential. (2) general not a local function of
 $\mathcal{F}[1]$.
Exception: $\tilde{\mathbb{P}}_{N} = 0$ (ideal gas): $\int \mathcal{F}_{id} [p] = \int d\vec{r} \ p(\vec{r}) R_{i} [p(\vec{r}), N^{i}] - i \int$.
 $\mathcal{F}_{id} [pi]$ is of the local form $\frac{1}{2}$. $\mathcal{F}_{id} [p] = \int d\vec{r} \ p(\vec{r}) R_{i} [p(\vec{r}), N^{i}] - i \int$.

$$\begin{split} & G\left[assical density functional the ory recop \\ & F[p] = \left< K_N + \Phi_H + k_B T \ln f_N \right> \qquad f_N : g rand-cononical phase-space \\ & F[p] is a unique functional of the equilibrium density p(7). \\ & Variational principle: $\Omega_V[p] = F[p] - \int d\vec{r} u(\vec{r})p(7). \\ & E come density peofile. \\ & Sp(\vec{r}) & = 0 \quad ; \Omega_V[p] = \Omega. \\ & = \mathcal{M} = Vext(\vec{r}) + \frac{SF[p]}{\delta g(\vec{r})} \quad (constancy of chemical potential). \\ & Hierarchies of correlation functions. \\ & Recall that \Omega can be viewed as $\Omega[n_1]$ and we have seen in P.3.1 \\ & g(\vec{r}) = -\frac{Sp\Omega[u]}{\delta p u(\vec{r})} \quad G(\vec{r}, \vec{r}') = -\frac{S^2 \Omega[w]}{\delta p u(\vec{r})} \delta p(\vec{r}, \dots \delta p(\vec{r}_N)) \\ & = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad G(\vec{r}, \vec{r}') = -\frac{S^2 \Omega[w]}{\delta p u(\vec{r})} \delta p(\vec{r}, \dots \delta p(\vec{r}_N)) \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad G(\vec{r}, \vec{r}') = -\frac{S^2 \Omega[w]}{\delta p u(\vec{r})} \delta p(\vec{r}, \dots \delta p(\vec{r}_N)) \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad G(\vec{r}, \vec{r}') = -\frac{S^2 \Omega[w]}{\delta p u(\vec{r})} \delta p(\vec{r}, \dots \delta p(\vec{r}_N)) \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad G(\vec{r}, \vec{r}') = -\frac{S^2 \Omega[w]}{\delta p u(\vec{r})} \delta p(\vec{r}, \dots \delta p(\vec{r}_N)) \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_N)]}{\delta p u(\vec{r})} \quad S[w(\vec{r}, \dots \delta p(\vec{r}_N)] \\ & \Omega(r) = -\frac{S[\Omega(T_$$$

J

We define direct correlation functions as:

$$c^{(i)}(\vec{r}) = -\frac{\delta\beta F_{\alpha} T_{\beta}]}{\delta\rho(\vec{r})}, c^{(i)}(\vec{r}_{1}\vec{r}_{1}) = -\frac{\delta^{2}\beta F_{\alpha} T_{\beta}]}{\delta\rho(\vec{r})\delta\rho(\vec{r}_{1})} = c^{(i)}(\vec{r}_{1}\vec{r}_{1}).$$

$$c^{(n)}(\vec{r}_{11}\cdots_{1}\vec{r}_{n}) = -\frac{\delta^{-}\beta F_{\alpha} T_{\beta}}{\delta\rho(\vec{r}_{1})\cdots\delta\rho(\vec{r}_{n})}$$
From: $\mu = \frac{\delta F_{\alpha} T_{\beta}}{\delta\rho(\vec{r})} + V_{\alpha+1}(\vec{r}).$

$$=)\mu = \frac{\delta F_{\alpha} T_{\beta}}{\delta\rho(\vec{r})} + \frac{\delta F_{1}4 T_{\beta}}{\delta\rho(\vec{r})} + V_{\alpha+1}(\vec{r}).$$

$$=)c^{(i)}(\vec{r}) = h_{\alpha} T_{\beta}(\vec{r}) \wedge \frac{\delta}{\delta\rho(\vec{r})} = \int p(\vec{r}) \wedge^{3} = \exp\left[\beta u(\vec{r}) + c^{(n)}(\vec{r})\right].$$
We see that $-k_{B} T_{\alpha}^{(i)}(\vec{r}) = acts as an effective one-body potential Abot determines $\rho(\vec{r}).$
One more functional differentiation:

$$c^{(n)}(\vec{r},\vec{r}') = \frac{\delta(\vec{r}\cdot\vec{r}')}{\rho(\vec{r})} - \rho \frac{\delta u(\vec{r})}{\delta\rho(\vec{r})} = \frac{\delta(\vec{r}\cdot\vec{r}')}{\rho(\vec{r})} + \delta^{-1}(\vec{r},\vec{r}'). (s)$$
awith inverse defined as:

$$\int d\vec{r}'' G(\vec{r},\vec{r}'') G^{-1}(\vec{r}'',\vec{r}') = \delta(\vec{r}\cdot\vec{r}'). (i)$$
(Compone with: A matrix. Aig Aig = \delta_{ij}).
From (g):

$$G(\vec{r},\vec{r}'') C^{-1}(\vec{r}'',\vec{r}') = \frac{\delta(\vec{r}'\cdot\vec{r}')}{\rho(\vec{r}'')} = C(\vec{r}\cdot\vec{r}') \in C(\vec{r}_{1}\vec{r}'') = \delta_{ij}$$$

$$\begin{cases} dz^{n} G(\vec{r},\vec{r}^{n}) c^{(2)}(\vec{z}^{n},\vec{r}^{n}) = \frac{G(\vec{r},\vec{r}^{n})}{p(\vec{r}^{n})} - \delta(\vec{z}-\vec{r}^{n}) . \\ G(\vec{r},\vec{r}^{n}) = p^{(2)}(\vec{r},\vec{r}^{n}) - p(\vec{r})p(\vec{r}^{n}) + p(\vec{r})\delta(\vec{r}-\vec{r}^{n}) . \qquad p^{(n)}(\vec{r},\vec{r}^{n}) = q(\vec{r})p(\vec{r}^{n})h(\vec{r},\vec{r}^{n}) + p(\vec{r})p(\vec{r}^{n}) - p(\vec{r})p(\vec{r}^{n}) + p(\vec{r})\delta(\vec{r}-\vec{r}^{n}) . \end{cases}$$

$$= p(\vec{r})p(\vec{r}^{n})h(\vec{r},\vec{r}^{n}) = \int d\vec{r}^{n} p(\vec{r})p(\vec{r}^{n})h(\vec{r},\vec{r}^{n}) - p(\vec{r})p(\vec{r}^{n})h(\vec{r},\vec{r}^{n}) . \\ + \int d\vec{r}^{n} p(\vec{r})\delta(\vec{r}-\vec{r}^{n})c^{(2)}(\vec{r}^{n},\vec{r}^{n}) . \end{cases}$$

$$= h(\vec{r},\vec{r}^{n}) = c^{(n)}(\vec{r},\vec{r}^{n}) + \int d\vec{r}^{n} h(\vec{r},\vec{r}^{n})p(\vec{r}^{n})c^{(2)}(\vec{r}^{n},\vec{r}^{n}) . \\ \end{cases}$$

$$= h(\vec{r},\vec{r}^{n}) = c^{(n)}(\vec{r},\vec{r}^{n}) + \int d\vec{r}^{n} h(\vec{r},\vec{r}^{n})p(\vec{r}^{n})c^{(2)}(\vec{r}^{n},\vec{r}^{n}) . \\ \end{cases}$$

$$= h(\vec{r},\vec{r}^{n}) = c^{(n)}(\vec{r},\vec{r}) + \int d\vec{r}^{n} h(\vec{r},\vec{r}^{n})p(\vec{r}^{n})c^{(2)}(\vec{r}^{n},\vec{r}^{n}) . \\ \end{cases}$$

$$= h(\vec{r},\vec{r}^{n}) = c^{(n)}(\vec{r},\vec{r}) + \int d\vec{r}^{n} h(\vec{r},\vec{r}^{n})p(\vec{r}^{n})c^{(2)}(\vec{r}^{n},\vec{r}) . \\ \end{cases}$$

$$= h(\vec{r},\vec{r}^{n}) = c^{(n)}(\vec{r},\vec{r}) + \int d\vec{r}^{n} h(\vec{r},\vec{r}^{n})p(\vec{r}^{n})c^{(2)}(\vec{r}^{n},\vec{r}) . \\ \end{cases}$$

$$= h(\vec{r},\vec{r}) = c^{(n)}(\vec{r},\vec{r}) + \int d\vec{r}^{n} h(\vec{r},\vec{r}^{n})p(\vec{r})c^{(2)}(\vec{r}^{n},\vec{r}) . \\ \end{cases}$$

$$= h(\vec{r},\vec{r}^{n}) = c^{(n)}(\vec{r},\vec{r}) + \int d\vec{r}^{n} h(\vec{r},\vec{r}^{n})p(\vec{r})c^{(2)}(\vec{r}^{n},\vec{r}) . \\ \end{cases}$$

$$= h(\vec{r},\vec{r}) = c^{(n)}(\vec{r},\vec{r}) + \int d\vec{r}^{n} h(\vec{r},\vec{r}) = c^{(n)}(\vec{r},\vec{r}) - o reduces to hult 0 \cdot 0 \cdot 2 \cdot 2 \cdot n . \\ \end{cases}$$

$$= h(\vec{r},\vec{r}) = c^{(n)}(\vec{r},\vec{r}) + \int d\vec{r} h(\vec{r},\vec{r}) = c^{(n)}(\vec{r},\vec{r}) - o reduces to hult 0 \cdot 0 \cdot 2 \cdot 2 \cdot n . \\ \end{cases}$$

$$= h(\vec{r},\vec{r}) = c^{(n)}(\vec{r},\vec{r}) = f(\vec{r},\vec{r}) + \int d\vec{r} h(\vec{r},\vec{r}) = c^{(n)}(\vec{r},\vec{r}) - o reduces to hult 0 \cdot 0 \cdot 2 \cdot 2 \cdot n . \\ \end{cases}$$

$$= h(\vec{r},\vec{r}) = \frac{h(\vec{r},\vec{r})}{h(\vec{r},\vec{r})} = \frac{h(\vec{r},\vec{r})}{h(\vec{r},\vec{r})} = c^{(n)}(\vec{r},\vec{r}) = c^{($$